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	Dec/2018 Braindump2go 1Y0-240 Exam Dumps with PDF and VCE New Updated Today! Following are some new 1Y0-240
Real Exam Questions:]1.|2018 Latest 1Y0-240 Exam Dumps (VCE & PDF) 248Q&As

Download:https://www.braindump2go.com/1y0-240.html2.|2018 Latest 1Y0-240 Exam Questions & Answers Download:
https://drive.google.com/drive/folders/0B75b5xYLjSSNYWRSMTFQWmNPUzQ?usp=sharingQUESTION 150Scenario: A Citrix

Administrator has configured the following Access Control List (ACL) to block traffic from the IP address 10.102.29.5.add

simpleacl rule1 DENY -srclP 10.102.29.5A week later, the administrator found that the ACL is no longer present on the NetScaler.

What could be the reason for this?A.    The administrator did NOT run the apply ACL command.B.    The NetScaler has been

restarted without saving the configurations.C.    The Simple ACLs remain active for only 600 seconds.D.    The Simple ACLs

remain active for only 60 seconds.Answer: AQUESTION 151Which scenario will cause automatic high availability (HA)

synchronization to fail?A.    Different build versionsB.    Manually forced synchronizationC.    A force failoverD.    A configuration

change to the primary NetScalerAnswer: BQUESTION 152Scenario: A Citrix Administrator is concerned about the amount of

health checks the NetScaler is sending to the backend resources. The administrator would like to find a way to remove health checks

from specific bound services.How can the administrator accomplish this?A.    Use the No-Monitor option.B.    Use Service Groups

to minimize health checks.C.    Unbind the current monitor.D.    Use reverse condition monitoring.Answer: AQUESTION 153

Scenario: A Citrix Administrator needs to add 10 new web servers to an existing server farm. The new servers are configured to

serve the same applications and connections and are twice the capacity of the existing servers. The administrator wants to ensure that

they are being fully utilized. Currently in the environment, the default load-balancing method is being used.To ensure that only the

10 new servers are receiving twice the connections of the old servers without changing the load balancing to the rest of the

environment, the administrator needs to add a weight of __________to the services attached to the__________servers. (Choose the

correct option to complete the sentence.)A.    50; newB.    50; oldC.    2; newD.    2; oldAnswer: CQUESTION 154Scenario: A

Citrix Administrator notices user sessions are disconnecting and reconnecting more often this week than last week, signaling a

problem.The administrator troubleshoots this issue and prepares to resolve it using persistence. However, the following

considerations apply in the environment:* It is a multi-proxy environment behind the NetScaler.* Use Source IP (USIP) mode is

enabled and applied to the services.* The session timeout is very short.* All users connect from the same location.The administrator

can use persistence based on the__________setting to resolve this issue. (Choose the correct option to complete the sentence.)A.   

Subnet IPB.    HTTP CookiesC.    ProximityD.    SSL Session IDsAnswer: AQUESTION 155A Citrix Administrator has noticed

that the users trying to access https://mycitrix.training.lab/exchange2016/owa are redirected to CAS_vserver_www instead of

CAS_vserver_owa.View the screenshot (Exhibit).  What should the administrator change to resolve this issue?A.    Unbind cs

vserver CAS_vserver_cs -Ibvserver CAS_vserver_wwwB.    Bind cs vserver CAS_vserver_cs -policyName CAS_policy_cs_owa

-priority 120C.    Bind cs vserver CAS_vserver_cs -policyName CAS_policy_cs_owa -priority 80D.    Add cs policy

CAS_policy_cs_owa -rule"HTTP.REQ.URL.SET_TEXT_MODE(IGNORECASE).CONTAINS("/owa")" -action

CAS_action_cs_owaAnswer: AQUESTION 156A Citrix Administrator notices that the NetScaler is sending the IP addresses of all

the active services in the DNS response.The administrator can use the set gslb vserver<name>__________parameter to avoid this

behavior. (Choose the correct option to complete the sentence.)A.    EDR DISABLEDB.    EDR ENABLEDC.    MIR ENABLEDD. 

  MIR DISABLEDAnswer: DQUESTION 157What is the effect of the set gslb parameter - GSLBSvcStateDelayTime 10 command

on the Global Server Load Balancing (GSLB) environment, when Metric Excnange Protocol (MEP) is enabled?A.    The Metric

Exchange Protocol (MEP) will be marked as DOWN if the GSLB service has been DOWN for 10 seconds.B.    The Metric

Exchange Protocol (MEP) will be marked as DOWN if the GSLB vServer has been DOWN for 10 seconds.C.    The GSLB services

will be marked as DOWN, if the Metric Exchange Protocol (MEP) connection has been DOWN for 10 seconds.D.    The GSLB

services will be marked as DOWN if the service has been DOWN for 10 seconds.Answer: CQUESTION 158Scenario: An

organization has a 'bring your own device' (BYOD) policy, so it is NOT feasible to set up proxy settings on each device in the

network.They need to implement NetScaler Secure Web Gateway to intercept all the traffic to block access to URLs serving

harmful/insecure content or the URLs that are identified as social networking sites. career, and job search portals.Which proxy mode

of the Secure Web Gateway should be used in this case?A.    TransparentB.    ExplicitC.    AdvancedD.    HTTPAnswer: A
QUESTION 159A Citrix Administrator needs to match the host name 'www.example.com' in all HTTP requests.Which expression,

when used, meets this requirement?A.    HTTP.REQ.HOSTNAME.EQ("www.example.com")B.   

HTTP.REQ.HOSTNAME("exarnple.com")C.    HTTP.RES.HOSTNAME.CONTAINS("www.example.com")D.   
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HTTP.RES.HOSTNAME.EQ("www.example.com")Answer: AQUESTION 160A Citrix Administrator is configuring Unified

Gateway with authentication policies.Where should the administrator configure NetScaler Gateway authentication policies?A.   

Global levelB.    Unified Gateway levelC.    Content-Switching levelD.    NetScaler Gateway levelAnswer: D
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